

Available Online at http://www.recentscientific.com

**CODEN: IJRSFP (USA)** 

International Journal of Recent Scientific Research Vol. 8, Issue, 9, pp. 19963-19968, September, 2017

## International Journal of Recent Scientific Research

DOI: 10.24327/IJRSR

## **Research Article**

# DIAGNOSTIC USEFULNESS OF ESTIMATED GLOMERULAR FILTRATION RATE FOR GRADING CKD CATEGORIES AND TO CORRELATE IT WITH BUN/CREATININE RATIO

## Elanthendral S., Wasim Mohideen., Selvam V and Swaminathan S

Techmed Health Centre & Diagnostic Pvt Ltd, Siva Building, No.1, Krishna Street, Off North Usman Road, T.Nagar, Chennai - 600 017

DOI: http://dx.doi.org/10.24327/ijrsr.2017.0809.0796

#### **ARTICLE INFO**

#### Article History:

Received 9<sup>th</sup> June, 2017 Received in revised form 14<sup>th</sup> July, 2017 Accepted 08<sup>th</sup> August, 2017 Published online 28<sup>th</sup> September, 2017

#### Key Words:

Urine, BUN, Creatinine, eGFR, CKD

#### **ABSTRACT**

The earliest test still being used to screen for kidney diseases are based on qualitative urine tests for micro, sugar and albumin and this test is used even today as the first line test for screening infection, DM and renal failure. Measurements of urea and creatinine in serum are the standard biochemical tests to evaluate kidney diseases. The stepwise evaluation of kidney diseases are measurement of GFR, which involves the measurements of creatinine in serum and in a 24hr urine and Tubular function tests such as concentration and dilution tests. The procedure for measuring GFR is time consuming and a timed and correctly collected urine is very important to avoid errors. The kidney research foundation, through a series of research has developed a simple and fairly accurate formula to calculate GFR using only serum creatinine value. In this research paper, we have measured BUN and creatinine in serum and eGFR was calculated using the established formula by National kidney foundations, USA for grading of CKD based on GFR values.

A total of 200 patients, comparing of both males and females in different age groups who attended the routine master health checkup served as population for this study. eGFR for each patient was calculated online using serum creatinine and age of the patient. Based on the eGFR values, CKD grading was done for each group of patients. The BUN/Creatinine was then correlated to eGFR and good correlations ranging from < 0.01 to <0.0001 was observed for all the groups of patients studied indicating that BUN/creatinine will serve as an index for evaluating eGFR.

Among 200 patients screened for CKD grading, 40.5% patients were grouped as G1 (normal), and the remaining grades were: G2 14.5%, G3a 2.5 %, G3b 16 %, G4 8.0 % and G5 18.5 %. Hence it is recommended that each patient for whom creatinine is investigated be screened for eGFR.

The outcome of this research will help to classify the CKD status of the patients and to refer such patients to nephrologists for proper diagnosis and to decide the treatment modalities by further laboratory diagnosis.

Copyright © Elanthendral S et al, 2017, this is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

## **INTRODUCTION**

According to kidney research foundation statistics, approximately 10% of population in the world suffer from some form of kidney related disorders and one million die each year. While 80% have affordable treatment in developed countries, it is much less in developing countries. In a country like India, the numbers of elderly are on the increase and hence kidney related diseases are increasing proportionately. Among people above 65 years who are suffering from uncontrolled DM, 1 in 4 or 1 in 5 may develop CKD.

Many studies on chronic kidney disease (CKD) have predicted it as the global health problem which increase the economic cost of a country which if not controlled will lead to an increase in cardiovascular disease (CVD). CKD have been graded as per

Glomerular Filtration Rate (GFR) either measuredusing24 hrs urine and serum creatinine or calculated using the established and accepted formula with creatinine only. Hence GFR using serum creatinine may serve as preliminary guideline to nephrologists to classify the stage of CKD and start appropriate treatement modalities. Urea and creatinine are the two nitrogenous waste products solely used for the diagnosis of kidney disease and creatinine is a better predictor as it does not change due to diet and is dependent on muscle mass. This article is an attempt to establish BUN/creatinine ratio as an index of GFR by correlating it to GFR with different age group populations. The mean GFR estimated by Creatinineclearance-Clearance urea (Crc-Cu) and by Modification of Diet in Renal Disease (MDRD) formula were 10.04 +/- 3.10 mL/min and 10.55 +/- 3.60 mL/min, respectively, and the two parameters

<sup>\*</sup>Corresponding author: Elanthendral S

correlated significantly. GFR by the MDRD formula tended to overestimate the highest values of Crc-Cu. The mean percent difference between both methods was 6.5 +/- 23.6. MDRD predictive equation overestimated significantly Crc-Cu in patients older than 70 years (mean over estimation of 15%), males (10%), diabetics (10%), and mainly in patients with comorbidity (17%). The GFR estimated by MDRD formula is very similar to Crc-Cu in young uremic patients without comorbidity. However, major discrepancies between these two methods could be observed in older patients, and mainly in those with comorbidity(1).

Chronic renal failure (CRF) is the progressive loss of function of kidney and patient requires a long time treatment in the form of renal replacement therapy. Haemodialysis (HD) is one of the renal replacement therapies, during which body's waste products, including creatinine, urea and excess water, are removed. 53% of patients had serum urea level above 200 mg/dL but after dialysis, 66% of patients had urea level below 200 mg/dL. Concerning serum creatinine, 57% of patients had values between 7-12 mg/dL before dialysis, whereas after dialysis, in 58% of patients the values were reduced below 7 mg/dL.(2)

eGFR calculated from serum creatinine at least once a year is recommended in all people with diabetes for detection of kidney dysfunction. eGFR remains an independent and significant predictor after adjustment for conventional risk factors including age, sex, duration of diabetes, smoking, obesity, blood pressure, and glycemic and lipid control, as well as presence of diabetic retinopathy. Cystatin-C (CysC) may in future be the preferred marker of diabetic nephropathy due to differences in measurements of serum creatinine by various methods. The appropriate reference limit for CysC in geriatric clinical practice must be defined by further research. Various studies have shown the importance of measurement of albuminuria, eGFR, serum creatinine and hemoglobin level to further enhance the prediction of end stage renal disease (ESRD).(3)

A serum creatinine-based prediction equation viz MDRD can be used to estimate GFR.CysChas been proposed as an alternative filtration marker to creatinine.(4) Recent guidelines state that the CysCbased prediction equation cannot be recommended for use in clinical practice. With prediction equations based on serum creatinine, the National Kidney Disease Education Program (NKDEP) recommendations are to report a numerical estimate in round numbers only for GFR values <60 mL/min per 1.73 m<sup>2</sup>. The MDRD equation generally out performs the Cocrcroft-Gault (C-G) equation but may still have a high level of bias, depending on creatinine assay calibration and low precision. According to Kidney Disease **Improving** Global Outcomes (KDIG) recommendations, many indications remain measurements using a clearance method. In that context, it should be recalled that radiolabeled-tracer plasma or urinary clearance methods, are safe, simple, accurate reproducible.(5)

Estimates of GFR are the best overall indices of the level of kidney function. The level of GFR should be estimated from prediction equations that take into account the serum creatinine

concentration and some or all of the following variables: age, gender, race, and body size. In adults, the MDRD study and C-G equations provide useful estimates of GFR. In children, the Schwartz and Counahan-Barratt (SCB) equations are useful. The serum creatinine concentration should not be used alone to assess the level of kidney function. Clinical laboratories should report eGFR using a prediction equation, in addition to reporting the creatinine measurements. Autoanalyzer manufacturers and clinical laboratories should calibrate serum creatinine assays using an international standard. Measurement of creatinine clearance using timed (e.g., 24-hour) urine collections does not improve the estimate of GFR over that provided by prediction equations. A 24-hour urine sample provides useful information for estimation of GFR in individuals with exceptional dietary intake (vegetarian diet, use of creatine supplements) or muscle mass (amputation, malnutrition, muscle wasting). It is also useful for assessment of diet and nutritional status and need to start dialysis.(6)

The equations for estimating GFR based on creatinine have been found to have limitations and have not been generalizable across all populations. Equations based on CysC provide an alternative method to estimate GFR. Whether the equation based on CysCalone or combined creatinine would improve GFR estimates has not been validated among Chinese patients with CKD and diabetes.(7)

In an attempt to reduce late referral and to improve the care of patients with CKD, different organizations have issued guidelines on when to refer patients to the nephrologist. Most suggest referral of patients with a GFR below 60 mL/min/1.73 m², and demand referral if the GFR is below 30 mL/min/1.73 m². It is recommended to use the abbreviated MDRD equation to estimate GFR. This formula is, however, sensitive to the creatinine assay methodology. In addition, the impact of the implementation of such guidelines on the nephrology practice has never been evaluated. Established guidelines identifies the true burden of CKD in a population and simulates the effects of a 100% implementation of the guidelines on the nephrology work load, and to evaluates the validity of the estimated GFR using the abbreviated MDRD formula when routinely provided.(8)

GFR is central to the diagnosis, evaluation and management of CKD. The MDRD Study equation had a bias of 3.0 %, interquartile range of 29.0 % and percentage of estimates within 30 % of the measured GFR value of 82 % for estimates below 60 mL/ (min x 1.73 m<sup>2</sup>). Above this value, the bias was greater and estimates are less useful since 30 % error is a large absolute error in GFR. Results vary across studies but are generally similar with disappointing performance in the high GFR range, which is of particular interest in early diabetic nephropathy. New equations using serum creatinine can reduce the bias present in the high GFR range but are unlikely to dramatically improve precision, suggesting a need for additional markers. Algorithms are needed to tailor clinical practice based on data from GFR estimates and other participant characteristics, including the population source and level of proteinuria.(9)Accurate measurement of renal function is important for the diagnosis, stratification and management of kidney disease. As the use of recommended filtration markers is limited by cumbersome and costly techniques, renal function

is typically estimated by using various specifically derived prediction equations. Most of these equations have been derived from Caucasian patients suffering from varying degrees of CKD (10).

Prediction formulas based on serum creatinine are most commonly used and appear acceptable for clinical purposes in the majority of patients with CRF. However, especially in patients at the extremes of body composition, the results from creatinine-based equations should be interpreted with caution. Apart from inulin clearance, no method can be considered the gold standard in the assessment of GFR. In cases of doubt, the decision to use gadolinium-enhanced magnetic resonance imaging should always be based on clinical risk-benefit judgment. (11) National Kidney Foundation Kidney Disease Outcomes Quality Initiative guidelines recommend that all people with a GFR<60 mL/min/1.73 m<sup>2</sup> undergo evaluation for anaemia and metabolic bone disease.(12) A decline in renal function suggests progression of CKD. This can be determined by measured GFR (e.g., iothalamate clearance), serum creatininebased GFR estimates, or creatinine clearance. Predictor associations were strongest with measured GFR. Misclassification from changes in non-GFR factors (e.g., creatinine production, tubular secretion) conservatively biased associations with eGFR. Misclassification from method imprecision attenuated associations creatinine clearance.(13)

A prospective randomized controlled trial comparing incremental dialysis with dietary protein restriction in patients with GFR < or = 10.5 mL/min/1.73 m $^2$  with properly defined outcome measures like morbidity, mortality, decline of GFR and quality of life needs to be conducted. Comparisons of incremental HD and incremental peritoneal dialysis need to be made especially with regard to technique survival and preservation of residual renal function. (14)

## **MATERIALS AND METHODS**

#### Selection of Patients

All patients,both male and female in different age groups who attended the master health check up (MHC) and for whom urea and creatinine were investigated as part of MHC was enrolled for this study. A part of fasting blood sample from each enrolled patient was used to measure urea and creatinine and the age of each patient was noted down.50 male patients in the age group of 19-50 years and 51-75 year as well as 50 female patients in the age of 21-50 years and 52 to 85 years served as the population for this study.

## Analytical methods used

State of art fully automated Randox RX-Imola Analyser and kits supplied by the same company were used to measure urea, by the urease-GLDH method and creatininebykinetic method using Jaffe's picrate reaction. Bio rad assayed controls at two levels were used everytime when the population samples were run to validate the accuracy of results obtained in this study.

## Statistical tools used

eGFR was calculated using CKD-EPI creatinine 2009 formula (15), which excludes weight and uses age and creatinine values only. Online calculations carried out for t' and 'p' using the website https://www.graphpad.com/quickcalcs/ttest1/

#### **RESULTS**

The individual results obtained for the 4 groups of patients and the statistical parameters evaluated to link BUN and BUN/Creatinine ratio to eGFR are presented under Tables I to VI. The kidney research foundation classifications of CKD are (16)

| GFR categories in CKD                   |       |                                  |  |  |  |  |
|---|-------|----------------------------------|--|--|--|--|
| Category GFR ml/min/1.73 m <sup>2</sup> |       | Terms                            |  |  |  |  |
| G1                                      | ≥90   | Normal or high                   |  |  |  |  |
| G2                                      | 60-89 | Mildly decreased                 |  |  |  |  |
| G3a                                     | 45-59 | Mildly to moderately decreased   |  |  |  |  |
| G3b                                     | 30-44 | Moderately to severely decreased |  |  |  |  |
| G4                                      | 15-29 | Severely decreased               |  |  |  |  |
| G5                                      | <15   | Kidney failure                   |  |  |  |  |

**Table I** Males < 50 Years

|      | AGE 19- | BUN <23 | Creatinine |           |        |
|------|---------|---------|------------|-----------|--------|
| S.No | 50yrs   | mg/dL   | <1.5 mg/dL | Bun/Creat | eGFR   |
| 1    | 19      | 8.45    | 0.90       | 9.39      | 123.40 |
| 2    | 20      | 11.96   | 1.30       | 9.20      | 78.50  |
| 3    | 23      | 11.82   | 1.00       | 11.82     | 105.60 |
| 4    | 23      | 13.03   | 1.08       | 12.06     | 96.20  |
| 5    | 24      | 12.10   | 1.15       | 10.52     | 88.60  |
| 6    | 24      | 18.68   | 1.10       | 16.98     | 93.50  |
| 7    | 25      | 8.41    | 1.00       | 8.41      | 104.10 |
| 8    | 25      | 9.20    | 0.86       | 10.70     | 120.50 |
| 9    | 25      | 9.81    | 1.20       | 8.17      | 83.50  |
| 10   | 25      | 10.09   | 0.80       | 12.61     | 124.20 |
| 11   | 25      | 18.68   | 1.00       | 18.68     | 104.10 |
| 12   | 26      | 11.58   | 0.80       | 14.48     | 123.30 |
| 13   | 27      | 9.95    | 0.80       | 12.43     | 122.40 |
| 14   | 28      | 7.47    | 0.80       | 9.34      | 121.60 |
| 15   | 28      | 13.17   | 0.80       | 16.46     | 121.60 |
| 16   | 28      | 13.45   | 1.10       | 12.23     | 90.90  |
| 17   | 30      | 9.53    | 1.30       | 7.33      | 73.20  |
| 18   | 30      | 9.81    | 1.00       | 9.81      | 100.50 |
| 19   | 31      | 18.73   | 1.50       | 12.48     | 61.20  |
| 20   | 32      | 9.34    | 0.90       | 10.38     | 112.60 |
| 21   | 32      | 9.57    | 0.90       | 10.64     | 112.60 |
| 22   | 32      | 10.13   | 0.90       | 11.26     | 112.60 |
| 23   | 32      | 10.18   | 1.21       | 8.41      | 78.70  |
| 24   | 32      | 11.21   | 0.90       | 12.45     | 112.60 |
| 25   | 33      | 8.78    | 0.74       | 11.86     | 121.20 |
| 26   | 33      | 13.87   | 1.01       | 13.73     | 93.70  |
| 27   | 34      | 11.58   | 0.90       | 12.87     | 111.00 |
| 28   | 34      | 13.08   | 1.10       | 11.89     | 87.10  |
| 29   | 35      | 10.74   | 1.10       | 9.76      | 86.50  |
| 30   | 35      | 19.61   | 1.20       | 16.35     | 77.90  |
| 31   | 37      | 9.39    | 0.80       | 11.73     | 114.10 |
| 32   | 37      | 10.04   | 0.80       | 12.55     | 114.10 |
| 33   | 40      | 7.29    | 0.60       | 12.14     | 125.80 |
| 34   | 40      | 10.27   | 0.90       | 11.42     | 106.50 |
| 35   | 40      | 11.53   | 1.30       | 8.87      | 68.30  |
| 36   | 40      | 16.35   | 0.70       | 23.35     | 118.00 |
| 37   | 41      | 7.94    | 0.80       | 9.92      | 111.00 |
| 38   | 41      | 11.63   | 1.00       | 11.63     | 93.10  |
| 39   | 41      | 12.00   | 1.10       | 10.91     | 82.90  |
| 40   | 43      | 9.34    | 0.80       | 11.68     | 109.40 |
| 41   | 43      | 11.58   | 1.00       | 11.58     | 91.80  |
| 42   | 43      | 23.35   | 1.30       | 17.96     | 66.80  |
| 43   | 44      | 12.14   | 0.90       | 13.49     | 103.50 |
| 44   | 45      | 12.14   | 1.00       | 12.14     | 90.50  |
| 45   | 45      | 12.84   | 1.00       | 12.84     | 90.50  |
| 46   | 49      | 15.32   | 1.1        | 13.93     | 78.40  |
| 47   | 49      | 16.95   | 1.5        | 11.30     | 53.90  |
| 48   | 50      | 8.69    | 0.9        | 9.65      | 99.20  |
| 49   | 50      | 10.32   | 1          | 10.32     | 87.40  |
| 50   | 50      | 12.14   | 0.7        | 17.35     | 110.00 |
| MEAN | 34.4    | 11.90   | 0.99       | 12.15     | 99.17  |
| SD   | 8.56    | 3.4     | 0.2        | 3.0       | 18.2   |

Table I present the results obtained for males in the age of 19-50 years for BUN, Creatinine, BUN/Creatinine ratio and the eGFR calculated online using creatinine values with the help of the formula mentioned . This table also gives the mean and SD values for all the parameters studied. The CKD classification according to National kidney foundation showed the following data. Out of 50 patients, 35 were classified as having G1, 14 with G2 and one with G3.

**Table II** Males > 50 Years

| S.No | AGE<br>51 -75yrs | BUN<br>24-122 mg/dL | CREATININE<br>0.8-8.5 mg/dL | BUN/CREAT | eGFR  |  |  |
|------|------------------|---------------------|-----------------------------|-----------|-------|--|--|
| 1    | 52               | 24.42               | 1.00                        | 24.42     | 86.10 |  |  |
| 2    | 58               | 25.17               | 1.84                        | 13.68     | 39.40 |  |  |
| 3    | 45               | 25.22               | 2.00                        | 12.61     | 39.10 |  |  |
| 4    | 72               | 25.45               | 1.60                        | 15.91     | 42.40 |  |  |
| 5    | 45               | 25.59               | 2.00                        | 12.80     | 39.10 |  |  |
| 6    | 75               | 25.69               | 1.70                        | 15.11     | 38.60 |  |  |
| 7    | 58               | 25.69               | 2.00                        | 12.84     | 35.70 |  |  |
| 8    | 54               | 25.69               | 2.50                        | 10.27     | 28.00 |  |  |
| 9    | 52               | 26.20               | 2.10                        | 12.48     | 35.10 |  |  |
| 10   | 60               | 26.34               | 2.50                        | 10.54     | 26.90 |  |  |
| 11   | 75               | 27.09               | 1.80                        | 15.05     | 36.00 |  |  |
| 12   | 75               | 27.09               | 1.70                        | 15.93     | 36.80 |  |  |
| 13   | 75               | 30.68               | 1.60                        | 19.18     | 41.50 |  |  |
| 14   | 64               | 33.02               | 3.46                        | 9.54      | 17.70 |  |  |
| 15   | 61               | 33.25               | 1.50                        | 22.17     | 49.50 |  |  |
| 16   | 73               | 35.49               | 0.80                        | 44.37     | 88.60 |  |  |
| 17   | 56               | 51.37               | 7.80                        | 6.59      | 10.70 |  |  |
| 18   | 66               | 56.04               | 5.50                        | 10.19     | 9.90  |  |  |
| 19   | 66               | 59.31               | 6.30                        | 9.41      | 8.40  |  |  |
| 20   | 66               | 63.51               | 5.80                        | 10.95     | 9.30  |  |  |
| 21   | 56               | 63.98               | 8.50                        | 7.53      | 6.30  |  |  |
| 22   | 72               | 68.18               | 0.80                        | 85.23     | 89.20 |  |  |
| 23   | 54               | 105.36              | 1.10                        | 95.78     | 75.70 |  |  |
| 24   | 54               | 106.48              | 4.30                        | 24.76     | 14.60 |  |  |
| 25   | 54               | 109.75              | 3.30                        | 33.26     | 20.10 |  |  |
| 26   | 54               | 110.54              | 5.50                        | 20.10     | 10.80 |  |  |
| 27   | 54               | 112.08              | 4.50                        | 24.91     | 13.60 |  |  |
| 28   | 54               | 115.82              | 3.70                        | 31.30     | 17.50 |  |  |
| 29   | 54               | 121.89              | 6.10                        | 19.98     | 9.50  |  |  |
| 30   | 56               | 43.80               | 1.10                        | 39.82     | 74.60 |  |  |
| 31   | 57               | 44.22               | 2.30                        | 19.23     | 30.40 |  |  |
| 32   | 57               | 47.17               | 5.20                        | 9.07      | 11.30 |  |  |
| 33   | 58               | 51.14               | 0.87                        | 58.78     | 95.10 |  |  |
| 34   | 58               | 70.52               | 4.50                        | 15.67     | 13.40 |  |  |
| 35   | 58               | 72.39               | 4.50                        | 16.09     | 13.40 |  |  |
| 36   | 59               | 75.79               | 4.40                        | 17.23     | 13.40 |  |  |
| 37   | 62               | 26.29               | 1.45                        | 18.13     | 5.10  |  |  |
| 38   | 62               | 26.34               | 1.43                        | 14.88     | 39.70 |  |  |
| 39   | 64               | 27.04               | 2.00                        | 13.52     | 34.20 |  |  |
| 40   | 65               | 27.04               | 2.20                        | 12.31     | 30.10 |  |  |
| 41   | 65               | 27.09               | 2.20                        | 13.54     | 34.00 |  |  |
| 42   | 65               |                     | 2.20                        | 12.38     |       |  |  |
|      |                  | 27.23               |                             |           | 30.30 |  |  |
| 43   | 66               | 27.37               | 2.40                        | 11.40     | 27.10 |  |  |
| 44   | 66               | 27.41               | 2.50                        | 10.97     | 25.60 |  |  |
| 45   | 67               | 27.79               | 2.90                        | 9.58      | 21.40 |  |  |
| 46   | 68               | 27.79               | 1.95                        | 14.25     | 34.30 |  |  |
| 47   | 70<br>70         | 29.93               | 2.88                        | 10.39     | 21.10 |  |  |
| 48   | 70               | 26.29               | 1.45                        | 18.13     | 48.40 |  |  |
| 49   | 71               | 26.34               | 1.58                        | 16.67     | 43.40 |  |  |
| 50   | 71               | 27.04               | 2.00                        | 13.52     | 32.60 |  |  |
| MEAN |                  | 47.45               | 2.91                        | 20.25     | 33.11 |  |  |
| SD   | 7.7              | 29.8                | 1.8                         | 17.3      | 22.6  |  |  |

The data presented in Table II is similar to the one shown in Table I, but for males in the age group of 51-75 years. In this group only one patient was classified as having G1, 5 in G2, 2 in G3a, 18 in G 3b, 12 in G4 and 12 in G5.

**Table III** Females < 50 Years

| S.No | AGE<br>21-50yrs | BUN<br>7-23 mg/dL | CREATININE<br><1.4 mg/dL | BUN/CREAT | eGFR   |  |  |  |
|------|-----------------|-------------------|--------------------------|-----------|--------|--|--|--|
| 1    | 21              | 8.87              | 0.90                     | 9.86      | 121.70 |  |  |  |
| 2    | 21              | 11.16             | 0.89                     | 12.54     | 122.20 |  |  |  |
| 3    | 22              | 9.34              | 0.70                     | 13.34     | 134.00 |  |  |  |
| 4    | 23              | 8.87              | 1.29                     | 6.88      | 77.60  |  |  |  |
| 5    | 23              | 9.67              | 0.73                     | 13.24     | 13.70  |  |  |  |
| 6    | 24              | 10.88             | 1.00                     | 10.88     | 104.90 |  |  |  |
| 7    | 25              | 10.27             | 1.00                     | 10.27     | 104.10 |  |  |  |
| 8    | 26              | 8.17              | 0.80                     | 10.22     | 123.30 |  |  |  |
| 9    | 26              | 8.73              | 0.90                     | 9.70      | 117.50 |  |  |  |
| 10   | 26              | 13.31             | 0.86                     | 15.48     | 119.70 |  |  |  |
| 11   | 27              | 9.34              | 1.00                     | 9.34      | 102.70 |  |  |  |
| 12   | 27              | 12.05             | 0.90                     | 13.39     | 116.60 |  |  |  |
| 13   | 28              | 18.68             | 2.80                     | 6.67      | 29.40  |  |  |  |
| 14   | 28              | 18.77             | 2.20                     | 8.53      | 39.30  |  |  |  |
| 15   | 28              | 18.82             | 2.30                     | 8.18      | 37.30  |  |  |  |
| 16   | 30              | 6.77              | 0.70                     | 9.67      | 126.60 |  |  |  |
| 17   | 30              | 8.87              | 0.90                     | 9.86      | 114.20 |  |  |  |
| 18   | 30              | 9.48              | 0.90                     | 10.53     | 114.20 |  |  |  |
| 19   | 32              | 8.83              | 0.94                     | 9.39      | 106.80 |  |  |  |
| 20   | 33              | 7.29              | 0.50                     | 14.57     | 142.40 |  |  |  |
| 21   | 33              | 9.48              | 0.80                     | 11.85     | 117.40 |  |  |  |
| 22   | 33              | 12.00             | 0.80                     | 15.00     |        |  |  |  |
| 23   | 35<br>35        | 6.72              | 1.00                     | 6.72      | 117.40 |  |  |  |
|      |                 |                   |                          |           | 97.10  |  |  |  |
| 24   | 35              | 9.11              | 0.96                     | 9.49      | 102.00 |  |  |  |
| 25   | 36              | 8.03              | 0.72                     | 11.16     | 120.00 |  |  |  |
| 26   | 36              | 8.87              | 0.80                     | 11.09     | 114.90 |  |  |  |
| 27   | 38              | 9.34              | 0.80                     | 11.68     | 113.30 |  |  |  |
| 28   | 38              | 11.35             | 0.80                     | 14.19     | 113.30 |  |  |  |
| 29   | 38              | 17.93             | 1.00                     | 17.93     | 95.10  |  |  |  |
| 30   | 38              | 23.12             | 1.30                     | 17.78     | 69.20  |  |  |  |
| 31   | 39              | 8.50              | 0.80                     | 10.62     | 112.50 |  |  |  |
| 32   | 39              | 8.64              | 0.96                     | 9.00      | 99.20  |  |  |  |
| 33   | 39              | 15.18             | 0.90                     | 16.86     | 107.20 |  |  |  |
| 34   | 40              | 8.41              | 0.80                     | 10.51     | 111.70 |  |  |  |
| 35   | 41              | 8.73              | 0.80                     | 10.92     | 111.00 |  |  |  |
| 36   | 41              | 9.53              | 0.80                     | 11.91     | 111.00 |  |  |  |
| 37   | 41              | 10.93             | 1.39                     | 7.86      | 62.50  |  |  |  |
| 38   | 42              | 8.41              | 0.80                     | 10.51     | 110.20 |  |  |  |
| 39   | 42              | 9.85              | 0.90                     | 10.95     | 105.00 |  |  |  |
| 40   | 43              | 9.67              | 0.80                     | 12.08     | 109.40 |  |  |  |
| 41   | 43              | 9.81              | 0.70                     | 14.01     | 115.60 |  |  |  |
| 42   | 44              | 8.27              | 0.74                     | 11.17     | 112.20 |  |  |  |
| 43   | 45              | 10.18             | 0.87                     | 11.70     | 104.20 |  |  |  |
| 44   | 45              | 7.47              | 0.88                     | 8.49      | 103.70 |  |  |  |
| 45   | 50              | 11.35             | 0.9                      | 12.61     | 99.20  |  |  |  |
| 46   | 48              | 20.08             | 1.1                      | 18.26     | 79.00  |  |  |  |
| 47   | 49              | 7.47              | 0.8                      | 9.34      | 104.90 |  |  |  |
| 48   | 50              | 8.27              | 0.95                     | 8.70      | 93.00  |  |  |  |
| 49   | 50              | 8.64              | 0.8                      | 10.80     | 104.00 |  |  |  |
| 50   | 50              | 8.87              | 0.7                      | 12.68     | 110.00 |  |  |  |
| MEAN | 35.42           | 10.65             | 0.97                     | 11.37     | 101.87 |  |  |  |
| SD   | 8.6             | 3.7               | 0.4                      | 2.8       | 25.6   |  |  |  |

The data presented in Table III are the results obtained for females in the age groups of 21-50 years along with the results as shown in the tables for males. The CKD classifications for this group were; 42 in G1, 4 in G2, 2 in G3b,1 in G4 and 1 in G5.

The data presented in Table IV are similar to the one presented in Table III, but for females in the age group of 52-85 years. The CKD classifications for this group were: 3 in G1, 5 in G2, 2 in G3a, 12 in G3b, 4 in G4 and 24 in G5

Table IV Females 52 -85 Years

| S.No     | Age<br>52-<br>85yrs | Bun<br>25 - 159 mg/dL | Creatinine 0.9-<br>10.1 mg/dL | Bun/Creat      | eGFR           |
|----------|---------------------|-----------------------|-------------------------------|----------------|----------------|
| 1        | 52                  | 26.06                 | 2.40                          | 10.86          | 29.90          |
| 2        | 65                  | 43.80                 | 1.10                          | 39.82          | 70.10          |
| 3        | 71                  | 44.22                 | 2.30                          | 19.23          | 27.50          |
| 4        | 58                  | 47.17                 | 5.20                          | 9.07           | 11.30          |
| 5        | 70                  | 51.14                 | 8.70                          | 5.88           | 95.60          |
| 6        | 60                  | 70.52                 | 4.50                          | 15.67          | 13.20          |
| 7        | 66                  | 72.39                 | 4.50                          | 16.09          | 12.70          |
| 8        | 63                  | 75.79                 | 4.40                          | 17.23          | 13.30          |
| 9        | 65                  | 76.96                 | 4.20                          | 18.32          | 13.90          |
| 10       | 66                  | 112.08                | 5.40                          | 20.76          | 10.20          |
| 11       | 67                  | 128.43                | 5.80                          | 22.14          | 9.30           |
| 12       | 60                  | 140.66                | 8.70                          | 16.17          | 6.0            |
| 13       | 80                  | 149.44                | 6.00                          | 24.91          | 8.10           |
| 14       | 55                  | 158.78                | 6.00                          | 26.46          | 9.70           |
| 15       | 58                  | 24.05                 | 1.10                          | 21.86          | 73.60          |
| 16       | 65                  | 24.28                 | 1.00                          | 24.28          | 78.60          |
| 17       | 84                  | 24.28                 | 0.90                          | 26.98          | 78.20          |
| 18       | 85                  | 24.52                 | 1.40                          | 17.51          | 45.50          |
| 19       | 69                  | 24.84                 | 1.80                          | 13.80          | 37.60          |
| 20       | 74                  | 24.98                 | 1.60                          | 15.62          | 41.80          |
| 21       | 60                  | 24.98                 | 1.00                          | 24.98          | 81.40          |
| 22       | 55                  | 25.22                 | 1.90                          | 13.27          | 38.80          |
| 23       | 66                  | 25.69                 | 1.80                          | 14.27          | 38.40          |
| 24       | 64                  | 25.73                 | 0.90                          | 28.59          | 89.90          |
| 25       | 57                  | 26.06                 | 0.90                          | 28.95          | 94.50          |
| 26       | 73                  | 26.15                 | 2.00                          | 13.08          | 32.20          |
| 27       | 56                  | 26.29                 | 1.45                          | 18.13          | 53.50          |
| 28       |                     |                       |                               |                |                |
| 28<br>29 | 66<br>66            | 26.34<br>27.04        | 1.58<br>2.00                  | 16.67<br>13.52 | 44.90<br>33.80 |
| 30       | 66                  | 27.04                 | 1.95                          | 13.32          | 34.80          |
| 31       | 56                  | 27.09                 | 2.20                          | 12.40          | 32.30          |
| 32       | 72                  | 27.23                 | 2.20                          | 12.38          | 28.90          |
| 33       | 54                  | 27.23                 | 2.40                          | 11.40          | 29.50          |
| 34       | 54                  | 27.41                 | 2.00                          | 13.71          | 36.70          |
| 35       | 54                  | 27.79                 | 2.90                          | 9.58           | 23.40          |
| 36       | 54                  | 27.79                 | 1.95                          | 14.25          | 36.70          |
| 37       | 59                  | 28.02                 | 2.40                          | 11.68          | 28.50          |
| 38       | 62                  | 28.07                 | 3.00                          | 9.36           | 21.30          |
| 39       | 62                  | 29.93                 | 2.90                          | 10.32          | 22.20          |
| 40       | 64                  | 51.37                 | 7.80                          | 6.59           | 6.60           |
| 41       | 65                  | 56.04                 | 5.50                          | 10.19          | 10.00          |
| 42       | 65                  | 56.97                 | 6.30                          | 9.04           | 8.50           |
| 43       | 65                  | 63.51                 | 5.80                          | 10.95          | 9.40           |
| 44       | 66                  | 64.91                 | 9.50                          | 6.83           | 5.10           |
| 45       | 66                  | 105.36                | 10.10                         | 10.43          | 4.80           |
| 46       | 72                  | 106.48                | 4.30                          | 24.76          | 12.80          |
| 47       | 73                  | 109.75                | 3.39                          | 32.37          | 17.00          |
| 48       | 77                  | 110.21                | 4.19                          | 26.30          | 12.80          |
| 49       | 80                  | 112.08                | 4.50                          | 24.91          | 11.50          |
| 50       | 79                  | 115.35                | 3.88                          | 29.73          | 14.20          |
| MEAN     | 65.22               | 56.16                 | 3.59                          | 17.30          | 31.97          |
| SD       | 8.1                 | 39.3                  | 2.4                           | 7.5            | 25.88          |

**Table V** Mean & SD for BUN, Creatinine, BUN/Creatinine&eGFR for all patient group.

| S No               | Dationt Crown | BUN   |      | Creatinine |      | <b>Bun/Creatinine</b> |       | eGFR   |       |
|--------------------|---------------|-------|------|------------|------|-----------------------|-------|--------|-------|
| S.No Patient Group |               | Mean  | SD   | Mean       | SD   | Mean                  | SD    | Mean   | SD    |
| 1                  | Males < 50    | 11.90 | 3.4  | 0.99       | 0.20 | 12.15                 | 3.0   | 99.17  | 18.2  |
| 2                  | Males > 50    | 47.45 | 29.8 | 2.91       | 1.80 | 20.25                 | 17.30 | 33.11  | 22.6  |
| 3                  | Females < 50  | 10.65 | 3.7  | 0.97       | 0.4  | 11.37                 | 2.8   | 101.87 | 25.6  |
| 4                  | Females > 50  | 56.16 | 39.3 | 3.59       | 2.40 | 17.3                  | 7.5   | 31.97  | 25.88 |

Table V presents the mean & SD results obtained for the measured & calculated parameters for all patients (Group 1 to 4). The mean & SD obtained for males and females < 50 years are fairly similar and is the same for males and females > 50 years.

**Table VI** Statistical Parameters

| S.No | Patient Group | Parameters Compared | t     | р        |
|------|---------------|---------------------|-------|----------|
| 1    | Males < 50    | BUN/CREATVseGFR     | 33.36 | < 0.0001 |
| 2    | Males > 50    | BUN/CREAT VseGFR    | 3.19  | < 0.01   |
| 3    | Females < 50  | BUN/CREATVseGFR     | 24.84 | < 0.0001 |
| 4    | Females > 50  | BUN/CREAT VseGFR    | 3.85  | < 0.001  |

Table VI shows the statistical parameters viz t and p for the set of parameters compared. While the correlations between BUN &eGFR as well as BUN/Creatinine to eGFR is highly significant for males & females in the age group of <50 years (p <0.0001 for both group), similar comparisons done for both males and females >50 years shows a p values of <0.01 for males and a highly significant p value of <0.001 for females.

#### **DISCUSSIONS**

CKD classifications is one of the most important kidney function evaluation criteria. GFR is usually determined bymeasuring creatinine in serum and 24 hr urine. Research done in the past has established simple and easy to use online formula for calculating eGFR using serum creatinine value and age of the patient.. Among the three suggested formulae viz MDRD, C-G and CKD-EPI Creatinine 2009, the last one is very easy to use by a small clinical laboratory in an Indian setup. The MDRD formula at times may give ± 10 % variations in values between measured and calculated (1). Although the use of CysC for calculating eGFR will give accurate results, the day to day measurements based on CvsC is not feasible for laboratories in developed countries as the reagent for this test is expensive (3). In this study we used the simple CKD-EPI on line calculator as this provides both eGFR as well as CKD category classifications. We did not correlate our findings of eGFR with the measured GFR using serum and urine creatinine values. As the aim of this study was to screen CKD category in patients attending regular check-ups by calculating eGFR, practical measurements were not done. As the MDRD formula is sensitive to assay methodology of creatinine, we preferred to use the CKD-EPI formula (8). As GFR is central to the first line of diagnosis for CKD, we undertook this study to screen patients attending the outpatient clinic to find out if they have any degree of CKD disorders (9). We then classified the % of patients having CKD disorders using the guidelines provided by National Kidney Foundation of USA.We also found out correlation of eGFR to BUN/Creatinine ratio and very good correlations were obtained.

The results obtained in this study are in agreement with many previous studies at an error rate of  $\pm$  10% (11,12).

## **CONCLUSIONS**

The outcome of this study has presented a simple and inexpensive method for mass screening of patients attending outpatient clinic to evaluate GFR and to grade the category of CKD.

Out of 200 patients screened (100 males & 100 females in different age groups) only around 40% of the patients CKD was found to be normal and the degree of CKD grading was found to be increased proportionately based on increase in creatinine values with age. While G3a and G4 grading were at the least for 2.5 % to 8.5 % of patients, G2 and G5 was

observed in 14.4% and 18.5 % respectively. Hence measurement eGFR rate for every patient who are investigated for creatinine will serve as a platform to find out the degree of CKD disorder and to recommend such patient for consultaion with a Nephrologist. This study also find out good correlations between eGFR to BUN/Creatinineraio and the P values ranged from <0.01 to <0.0001.

The outcome of this research will help to classify the CKD status of the patients and to refer such patients to nephrologists for proper diagnosis and to decide the treatment modalities by further laboratory diagnosis.

### Acknowledgement

The authors would like to thank the management, especially Dr.MasoodIkram, Associate Vice President – Projects, Strategy & Operations, Techmed Health Centre & Diagnostic Pvt Ltd., for giving permission and providing facilities to undertake this study.

## Reference

- 1. Caravaca F<sup>1</sup>, Arrobas M, Luna E, Naranjo M, Pizarro JL, Sánchez-Casado E[Differences between the glomerular filtration rate estimated by the MDRD equation and the measurement of creatinine and urea clearance in unselected patients with terminal renal insufficiency].[Article in Spanish]PMID:Nefrologia. 2002;22(5):432-7
- Noor ul Amin, Raja TahirMahmood\*, M. JavaidAsad, MudassarZafar, and AsadMehmoodRajaEvaluating Urea and Creatinine Levels in Chronic Renal Failure Pre and Post Dialysis: A Prospective Study Journal of Cardio Vascular Disease,Vol2,No2,April 2014: ISSN: 2330-4596 (Print) / 2330-460X (Online) http://www.research pub.org/journal/jcvd/jcvd.html
- Pradeep Kumar Dabla World J Diabetes Renal function in diabetic nephropathy. 2010 May 15; 1(2): 48-56.Published online 2010 May 15. doi: 10.4239/wjd.v1.i2.48
- 4. Tidman M¹, Sjöström P, Jones IA Comparison of GFR estimating formulae based upon s-cystatin C and s-creatinine and a combination of the two.5.Semin Nucl Med. 2008 Jan; 38(1):32-46.Monitoring renal function and limitations of renal function tests.
- 5. Prigent A<sup>1</sup>.Nephrol Dial Transplant. 2008 Jan; 23(1):154-60.
- 6. Manjunath G<sup>1</sup>, Sarnak MJ, LeveyAS. Estimating the glomerular filtration rate. Dos and don'ts for assessing kidney functionPostgrad Med. 2001 Dec; 110(6):55-62.

- 7. Li HX<sup>1</sup>, Xu GB, Wang XJ, Zhang XC, Yang JMDiagnostic accuracy of various glomerular filtration rates estimating equations in patients with chronic kidney disease and diabetes. Chin Med J (Engl). 2010 Mar 20; 123(6):745-51.
- 8. Van Biesen W<sup>1</sup>, Vanholder R, Veys N, Verbeke F, Delanghe J, De Bacquer D, Lameire N. The importance of standardization of creatinine in the implementation of guidelines and recommendations for CKD: implications for CKD management programmes. Nephrol Dial Transplant. 2006 Jan; 21(1):77-83. Epub 2005 Oct 12.
- 9. Coresh J<sup>1</sup>, AugusteP.Reliability of GFR formulas based on serum creatinine, with special reference to the MDRD Study equation.Scand J Clin Lab Invest Suppl. 2008; 241:30-8.
- Mahajan S<sup>1</sup>, Mukhiya GK, Singh R, Tiwari SC, Kalra V, Bhowmik DM, Gupta S, Agarwal SK, Dash SC. Assessing glomerular filtration rate in healthy Indian adults: a comparison of various prediction equations. J Nephrol. 2005 May-Jun;18(3):257-61
- 11. Kooman JP<sup>1</sup>Estimation of renal function in patients with chronic kidney disease. J Magn Reson Imaging. 2009 Dec; (6):1341-6.
- Clase CM<sup>1</sup>, Kiberd BA, Garg AX. Relationship between glomerular filtration rate and the prevalence of metabolic abnormalities: results from the Third National Health and Nutrition Examination Survey (NHANES III). Nephron Clin Pract. 2007; 105(4):c178-84.Epub 2007 Mar 7.
- 13. cohort. Rule AD¹, Torres VE, Chapman AB, Grantham JJ, Guay-Woodford LM, Bae KT, Klahr S, Bennett WM, Meyers CM, Thompson PA, Miller JP; CRISP Consortium. Comparison of methods for determining renal function decline in early autosomal dominant polycystic kidney disease: the consortium of radiologic imaging studies of polycystic kidney disease. J Am SocNephrol. 2006 Mar; 17(3):854-62. Epub 2006 Feb 1.
- 14. MisraM<sup>1</sup>, NolphKD. Adequacy in dialysis: intermittent versus continuous therapies. Nefrologia. 2000;20 Suppl 3:25-32
- Levey AS, Stevens LA, Schmid CH, Zhang YL, Castro AF 3rd, Feldman HI, Kusek JW, Eggers P, Van Lente F, Greene T, Coresh J; CKD-EPI (Chronic Kidney Disease Epidemiology Collaboration). A New Equation to Estimate Glomerular Filtration Rate. Ann Intern Med 150(9):604-12. (2009)
- 16. 2017 National Kidney Foundation, Inc.,30 east 33<sup>rd</sup>Street,NewYork,NY 10016.

#### How to cite this article:

Elanthendral S *et al.*2017, Diagnostic Usefulness of Estimated Glomerular Filtration Rate For Grading Ckd Categories And To Correlate It With Bun/Creatinine Ratio. *Int J Recent Sci Res.* 8(9), pp. 19963-19968. DOI: http://dx.doi.org/10.24327/ijrsr.2017.0809.0796

\*\*\*\*\*